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The paper is divided in three Sections A, B and C. 

All questions from each Section should be attempted together. 

All questions are compulsory. 
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Section A 

(~ 'Cf)) 

I. (a) What determines the total production of goods and services in classical theory. 5 

CR11fBCfl<1 fBO&I~ # '~ ~3lf ~ ~3lf cfi" ~ cnT ~ fctiB WfiR 

fcfi7:IT \jffffi % ? 
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(b) What are the detenninants of desired capital stock ? Explain Flexible Accelerator 

model in this context. 10 

~ ~ ~ ~ ~ Cf<IT t ? <?fl:q~nt1 ~ ~ cn1 ~ sufirt<:flctt 

"B 041&11 Cfllf.Ji!J> I 

Or 

(~) 

(a) What ·detennines the demand for goods and services in classical framework ? 5 

(b) Explain the Boumol-Tobin cash management approach to demand for money. 10 

2. (a) Show the derivation of LM curve. Which factors determine slope and position 

of LM curve. 8 

LM ~ Cfll E1(tlf-d ~~ LM ~ ~ ~ am ~ ct R~ ~ 

~ ~ ? 

(b) Show the effect of fiscal policy in case of different types of LM curve. 7 
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Or 

(~) 

(a) Explain the Keynesian model of detennination of equilibrium income and output. 

How does an increase in spending raise the equilibrium level of income ? Explain 

with the help of a diagram. 8 

3W"-f ~ d(<II(!O'"l ~ ~ f.:r~ ~ ~ ~ Cfft &11&:11 Chlf\31~ I O!:["lf 

-q cfo& ~ m 3W"-f ~ ~ m ~ Cfl1 ~ % ? ~ {@tf.q?i 

Cfft ~ ~ ffl'l$il$~ I 

(b) What is crowding out ? How is it accommodated with monetary expansion 1 7 

i*llaf-iJI ~ CJ<IT % ? ~ ~ ~ ~ ~ m Bl'll4lf\31d ~ '\lfRU 

% ? 

Section B 

(~ '~') 

3. Given the following infonnation : 

Consumption c = 100 + .75 Yd 

Investment I = 200 - 8i 

Govt. Expenditure G = 150 

Taxes T = 0.20Y 

DO for Money L 0.4Y - 2i 

P.T.O. 
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Nominal SS for Money 

Price Level 

( 4 ) 

Ms = 800 

p = 2. 

(a) Determine equilibrium level of income and the rate of interest. 
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(b) If the Government expenditure is increased by 50, determine the new equilibrium 

level of income. 

(c) Determine the extent of crowding out of income. 

f·F1f0f@d \lii1Cfll~l eft ~ ·~ 

"311'4trr 
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c = 

I = 

G = 

T 

L = 

Ms 

p = 

100 + .75 Yd 

200 - 8i 

150 

0.20Y 

0.4Y - 2i 

= 800 

2. 

( 31) • m iR aw:r 3lR ~ Cfft ~ Cfil f.:r~ Chlf,jjtJ: 1 

6+5+4 

c~) ~ fl{Cflrn a:r:T ~ so cn1 ~ m ~ t ~ aw:r CfiT 1"liT ~ "RR 

~~' 

( ~) 3w:r qff Sf> I afi ll 31TdC "ll1?IT CfiT R~ Chl f,jj tJ: I 
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Or 

(awcrr) 

Given the following infonnation : 

c = 200 + Consumption 

Investment I = 296 -

Govt. Expenditure 

Tax 

Transfer Payments 

DO for Money 

Nominal SS for Money 

Price Level 

G 

T 

TR 

L 

Ms 

p 

= 340 

0.2Y 

= 80 

= 0.2Y 

= 400 

= 2. 

.75 Yd 

16i 

8i 

(a) Determine equilibrium level of income and the rate of interest. 

(b) What is the value of monetary policy multiplier ? 
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(c) How much increase in money supply is required to mcrease equilibrium mcome 

by 100 ? 

f~S01fMf@d :jji'1CfiRl ~ ~ % 

C = 200 + .75 Yd 

I = 296 - 16i 

G 340 

6+5+4 

P.T.O. 
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( 6 ) 

T = 0.2Y 

TR = 80 

L = 0.2Y - 8i 

Ms = 400 

p = 2. 

( 3T) • m lf{ 3lr:f 3lR ~ CfiT ~ cnr f.:r~ Cfll f'il tJ> 1 

c Gl) ~ -;:ftfu ~ cnr l1R cp:rr ~ ? 
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("B) 3lr:f ~ ~ m if 100 CfiT ~-~ ~ ~ ~ CfiT ~ if ~ 

CJf.& CfiT 3"11CI~4Chdl ~ ? 

Section C 

4. (a) Show the effect of monetary expansion on equilibrium output and the price level 

in short run, medium term and long run. 8 

<1~Cfll<1, llU!l1Cfll(1 3fu: ~}:fCfll<1 if ~ m:rn: cnr ~ 3fu: · ~-m "BTR:f 

lf{ >r'lfTC.f ~ I 

(b) Explain natural rate of unemployment. . 7 

--------
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Or 

(~) 

(a) Expectation-augmented Aggregate Supply Curve highlights the role of expectations 

in wage setting in the labour market. Explain. 8 

~-~~ ~ ~ C!Sfl (Expectation-augmented Aggregate Supply Curve) 

W1 ~ it ~ f.l'tlRur it Sl~l~ll qft ~ cnl ~ %I fll4~1~~ I 

(b) Briefly describe social costs of inflation. 7 

5. (a) Discuss the derivation of IS curves under Mundell-Fleming model m an open 

economy. 8 

~ ~ 3l~ it ~ CR9f~J I mw cfi 3Rl1fu IS C!Sfl qft o>j)({FH11 

qft 641&:11 ~I 

(b) Briefly describe the effects of Fiscal policy at home and abroad on Trade Balance 

in a small open economy. 7 

~ ~ ~ 3l~ it ~ -;:ftfu cfi tfut 3fu ~ cx:rr:rR ~ 

1:R "Sf~ CfiT ~~ it croR Cfllf\i!Q> I 

P.T.O. 
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Or 

(WTcrr) 

(a) Differentiate between nominal and real. exchange rate. Also discuss the determinants 

of real exchange rate. 8 

(b) Discuss the effects of Fiscal Policy at home and shifts m investment demand in 

a large economy. 5+2=7 
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